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SOLUZIONE DEGLI ESERCIZI SULLA LOGICA

la. 4A—(BNC)=4An(BnNnC(C) pA(gnr)
pVVVVFFFF q.VVFFVVFF r:-VEVFVEFVFE  Soluzione: FVVVFFFF
b ANB pPAG
pVVFF q.VFVF Soluzione: FFVF
20 AN B ; A 5
pVVFF q.VFVF Soluzione: FFFV
2 ANB pPAg
pVVFF q.VFVF Soluzione: FVFF
3 ANB pPAg
pVVFF q.VFVF Soluzione: VVVF
3 AUB pvy
pVVFF q.VFVF Soluzione: VEVV
4a AU A ; Vv p
p:VF Soluzione: VV TAUTOLOGIA
4 ANBuUA pAqgV P
pVVFF q.VFVF Soluzione: VVVV TAUTOLOGIA
sa (AN B)N A (PA@AD
pVVFF q.VFVF Soluzione: FFFF CONTRADDIZIONE
b (4UB)U 4 (pva)vp
pVVFF q.VFVF Soluzione: FFFF CONTRADDIZIONE

6a

C,,;(ANB)Y=(ANB)U (BN A)
pVVFF q:VFVF

(pAq)V(qgAp)
Soluzione: FVVF

6b

A-B=ANB

PNy

pVVFF q.VFVF Soluzione: VFVV
72. CN (AU B) ra(pvaq)

pVVVVFFFF q.VVFFVVFF r:VFVFVFVF

Soluzione: VEVFVFFF

7b

[(AuB)mZ]uB

[((pvg)Aplvy

pIVVFF q:VF VF Soluzione: VVVV TAUTOLOGIA
8a C, (AU B) pPVvq
pZVVFF qZVFVF Soluzione: FFFV
8b C,(ANB) PAg
pVVFF q.VFVF Soluzione: FVVV
9 BN (AUB) gr(pvq)
pVVFF q.VFVF Soluzione: FVFF
9% BnN(4NB) gnr(pnrq)

p:VVFF q:VEVF

Soluzione: VFFF
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108 AU (BN A) pv(gnAp)

p:VVFF q:VFVF Soluzione: VVFF
10b AU (BN A) pv(qAp)
pVVFF q.VFVF Soluzione: VVFV
lla (ANB)N (AU B) (prg)~(pVq)
pVVFF q.VFVF Soluzione: FFFF CONTRADDIZIONE
11b m (pvag)n r
p:VVVVFFFF q:VVFFVVFF r:-VEVFVFVF  Soluzione: VFVEVFVV
122 (AN B)U (AU B) (pnrg)v(pVaq)
pZVVFF q:VF VF Soluzione: VVVV TAUTOLOGIA
126 4UB-(ANnB)=(AUB)N(ANB) (pvag)rn(pnrgqg)
p:VVFF q:VFVF Soluzione: FVVF
133 AUBU (AN B) (pvag)v(pnrq)
p:VVFF q:VFVF Soluzione: VFFV
13b ANBU(ANBNC) PAgGV(PAGAT)
p:VVVVFFFF q:VVFFVVFF r:-VFVFVFVF  Soluzione: VFVVVVVV
142 (4N B)N (AU B) (PA@)A(pVq)
pVVFF q.VFVF Soluzione: FFFF CONTRADDIZIONE
1496 (ANC)U (AN B) (pAr)Vv(pAgq)
p:VVVVFFFF q:VVFFVVFF r:VEVFVEVF  Soluzione: FFFFVVVFE
15a [(AmC)uB]mZ [(P/\r)Vq]/\;
p:VVVVFFFF q:VVFFVVFF r:VEVFVEVF  Soluzione: FFFFVFVFE
156 Cy[(4N B)U (AU B)] (prg)v(pvy)
pVVFF q.VFVF Soluzione: FFFF CONTRADDIZIONE

16 [(ANBYU(BNC)U(ANC)]|-(ANnBNC)

[((pAq)v(grr)v(pAr)In(pArgnar)
p:VVVVFFFF q:VVFFVVFF r:VEVFVEVF  Soluzione: FVVFVFFF

7 {{(4nByucClnal-B pra)vrinping
P VVVVEFEF q:VVEFVVFF r:VFVEVEVE  Soluzione: FFFVFFFF

18 (C, ,(ANB))UC=[(ANB)UBNAIUC  [(prg)v(gap)vr
pVVVVEFFF q:VVEFVVFF r:VEVEVEVE  Soluzione: VEVVVVVE

19 AN[(AnB)u d]-C pAl(pAg)v plar
P VVVVEFEF q:VVEFVVFF r:VFVEVEVE  Soluzione: FVFVFFFF

20 {[(AnB)UC]-B}u 4 prg)yvringlvp
pVVVVEFFF q:VVFFVVEF r:VEVEVEVE  Soluzione: VVVVEFVE

21 [(AnB)yuC]n[(AnC)uU B] [((pArg)vr]al(parr)vgl
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22

[AN(BNC)U[(ANB)NC]
p:VVVVFFFF q:VVEFVVFF r:-VEVFVFVF

[pA(gArIVIpAg) ArF]
Soluzione: VFVFFFFF

23

(AN B)N (AN B)
p:VVFF q:VFVF

(PAG)A(PAQ)

Soluzione: FFFF CONTRADDIZIONE

24

(AN B)U (AN B)
pVVFF q.VFVF

(PAq)v(pArg)
Soluzione: FVVV

25

(AU B)N (Z V, E)
pVVFF q.VFVF

(pva)A(pvq)
Soluzione: FVVF

26

(ANB)U(ANC)U(BNC)
p:VVVVFFFF q:VVFFVVFF r:VFVFVFVF

(PAq)V(pAr)v(gnar)
Soluzione: VVFFVFVF

27

(AN B)U (AN C)
p:VVVVFFFF q:VVFFVVFF r:VFVFVFVF

(PAq)V(pAr)
Soluzione: VVFFVFVF

28

[(ANB)NClu(CnA)NB
p:VVVVFFFF q:VVFFVVFF r:VFVFVFVF

[(pAg)Arlv(FAp)Ag
Soluzione: VFFFVFFF

29

[(ANB)NC]U[(C N B)N A]
p:VVVVFFFF q:VVFFVVFF r:VFVFVFVF

[(pAg)ArIvVI(rAg) A p]
Soluzione: VFFFVVVV

30

(AUBUC)N[(ANB)U (AN C)]
p:VVVVFFFF q:VVFFVVFF r:VFVFVFVF

(pvgvr)Al(prg)Vv(par)]
Soluzione: FVVVFFFF

31

(AUBUC)U[(ANB)U (AN C)]

pVVVVFFFF q.VVFFVVFF r:VFVFVFVF

(pvagvr)vi(prg) v (pAar)]
Soluzione: FVVVFFFF




